TO:Lincoln Parish Police JuryFROM:Public Works CommitteeSUBJECT:Committee Report

The Public Works Committee of the Lincoln Parish Police Jury met in the Police Jury Meeting Room, 100 West Texas Avenue, Ruston, Louisiana, Tuesday, May 13, 2025 at 5:30 p.m. Present were: Greg Williams, Chair, Dan Lord, Milton Melton, and Diane Richards

ABSENT: T.J. Cranford

Chair Greg Williams called the meeting to order and Milton Melton delivered the Invocation.

Dan Lord offered a motion, seconded by Milton Melton, to approve the Agenda. The motion carried with the following votes:

YEAS: Williams, Lord, Melton, and Richards

Chair Williams called for Public Comments on Agenda Items. There were none.

First item on the Agenda was to discuss abandonment of Holstead Road, Lester Road, Skinner Road, and Grover Road and schedule a public hearing related thereto. After discussion, Dan Lord offered a motion, seconded by Milton Melton, to schedule a Public Hearing for June 10, 2025 at 6:00 p.m. for the purpose of receiving public input on the abandonment of the roads. The motion carried with the following votes:

YEAS: Williams, Lord, Melton, and Richards

Next item on the Agenda was to authorize engagement of Shuler Consulting Company for services related to acquisition of generators and authorize advertisement for bids. Dan Lord offered a motion, seconded by Milton Melton, to authorize the action. The motion carried with the following votes:

YEAS: Williams, Lord, Melton, and Richards

Dan Lord offered a motion, seconded by Milton Melton, to award the bid for Pea Ridge Road Drainage Improvements to the low bidder, The Mabry Company, LLC in the amount of \$591,635.00.

	Bid Opening - May 8, 2025, 11:00 A.M. (SCC Project No. 3420)							
Item				The Mabry Co	The Mabry Company, LLC		W. L. Bass Construction, Inc.	
No.	Description	Quantity	Unit	Unit Price	Extension	Unit Price	Extension	
BID ITEMS:								
1	Clearing and grubbing	1	LS	\$30,000.00	\$30,000.00	\$20,000.00	\$20,000.00	
2	Removal of existing surface and base	245	SY	\$20.00	\$4,900.00	\$12.00	\$2,940.00	
3	Removal of guardrail	360	LF	\$10.00	\$3,600.00	\$7.00	\$2,520.00	
4	Removal of bridge	1	EA	\$17,500.00	\$17,500.00	\$17,000.00	\$17,000.00	
5	Removal of bridge piles	9	EA	\$300.00	\$2,700.00	\$320.00	\$2,880.00	
6	Excavation	751	CY	\$20.00	\$15,020.00	\$12.00	\$9,012.00	
7	Silt fence	200	LF	\$5.00	\$1,000.00	\$5.50	\$1,100.00	
8	Select fill	400	CY	\$20.00	\$8,000.00	\$57.00	\$22,800.00	
9	2" asphaltic concrete wearing course (Level 1)	27	TON	\$350.00	\$9,450.00	\$315.00	\$8,505.00	
10	1-1/2" asphaltic concrete base course (Level 1)	20	TON	\$350.00	\$7,000.00	\$315.00	\$6,300.00	
11	8" crushed stone base course	54	CY	\$100.00	\$5,400.00	\$400.00	\$21,600.00	
12	Type "R" concrete	22	CY	\$150.00	\$3,300.00	\$1,000.00	\$22,000.00	
13	Crushed stone bedding (8" thick)	43	CY	\$75.00	\$3,225.00	\$200.00	\$8,600.00	
14	Riprap 55#	210	SY	\$150.00	\$31,500.00	\$120.00	\$25,200.00	
15	Geotextile fabric	210	SY	\$4.00	\$840.00	\$5.00	\$1,050.00	
16	Temporary signs and barricades	1	LS	\$18,000.00	\$18,000.00	\$30,000.00	\$30,000.00	
17	Seeding and fertilizer	1	LS	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	
18	Blocked out guard rail	250	LF	\$40.00	\$10,000.00	\$38.00	\$9,500.00	
19	Guard rail end treatment (flared)	4	EA	\$4,300.00	\$17,200.00	\$4,100.00	\$16,400.00	
20	Object marker assembly	4	EA	\$150.00	\$600.00	\$135.00	\$540.00	
21	Thermoplastic pavement striping	380	LF	\$30.00	\$11,400.00	\$3.50	\$1,330.00	
22	8'W x 6'V reinforced concrete box culvert (60° crossing)	180	LF	\$900.00	\$162,000.00	\$1,930.00	\$347,400.00	

Bid Tabulation Lincoln Parish Police Jury 2024 Capital Improvement Plan, Pea Ridge Road Drainage Improvements Bid Opening - May 8, 2025, 11:00 A.M. (SCC Project No. 3420)

The motion carried with the following votes:

YEAS: Williams, Lord, Melton, and Richards

Dan Lord offered a motion, seconded by Milton Melton, to recommend approving the Preliminary Plat for Oak Tree Subdivision Units 2 and 3. The motion carried with the following votes:

YEAS: Williams, Lord, Melton, and Richards

Next item on the Agenda was to declare various items as surplus property and authorize advertisement for bids. After discussion, Dan Lord offered a motion, seconded by Milton Melton, to authorize the action.

Item 1 2008 Mack MRU613 Chassis w/E-Z Pack Hercules Body VIN# 1M2AV04C98M002100 Min. Bid: \$2,000.00

Item 2

2016 Mack E-Z Pack Hercules VIN# 1M2AV04C9GM014066 Min. Bid: \$2,000.00

Item 3 2011 Mack Compactor Truck VIN# 1M2AV02C3BM006573 Min. Bid: \$2,000.00

Item 4 2009 International 4400 w/Lightening Loader VIN# 1HTMKAAR39H058491 Min. Bid: \$2,000.00

Item 5 2016 Volvo SD115B Roller VIN# VCES115BV05236115 Min. Bid: \$10,000.00

Item 6 Dayton Air Compressor Model LR12232 Min. Bid: \$50.00

Item 7 Eurospand Seed Spreader Model S273L Min. Bid: \$200.00

Item 8 Shindaiwa Weed Trimmer Model S27A Min. Bid: \$25.00

Item 9 Shindaiwa Weed Trimmer Model 62073 Min. Bid: \$25.00

Item 10 Bushhog Model BH15-2 Min. Bid: \$100.00 Item 11 Ditch Witch Model 1410 Min. Bid: \$250.00

Item 12 2009 New Holland T5070 VIN# Z9JH08046 Min. Bid: \$2,500.00

Item 13 Craftsman Pressure Washer Model GCV190 Min. Bid: \$25.00

Item 14 Shindaiwa Back Pack Blower Model EB802 Min. Bid: \$25.00

Item 15 Min. Bid: \$10,000.00 Kubota Zero Turn Model ZD331 Min. Bid: \$200.00

Item 16 Heated Cart Min. Bid: \$100.00

Item 17 Heated Cart Min. Bid: \$100.00

Item 18 Asphalt Zipper AZ-480HD VIN# 48HD0131 Min. Bid: \$15,000.00

Item 19 2016 Gradall D152 Excavator VIN# 1FVACXDT7HHHS4779/000054 Min. Bid: \$75,000.00 Item 20 2021 Bushwhacker Bush Hog VIN# 21ST04P 2137 37011 Min. Bid: \$2,500.00

Item 21 2021 Bushwhacker Bush Hog VIN# 21ST04P 2137 37010 Min. Bid: \$2,500.00

Item 22 2011 New Holland T5040 VIN# ZBJH15566 Min. Bid: \$5,000.00

Item 23 2011 New Holland T5040 VIN# ZCJH13646 Min. Bid: \$1,000.00

The motion carried with the following votes:

YEAS: Williams, Lord, Melton, and Richards

Chair Williams called for Public Comments. There were none.

There being no other business to come before the Committee, Dan Lord offered a motion, seconded by Milton Melton, to adjourn the meeting. The motion passed unanimously.

Courtney Hall Parish Administrator Greg Williams Committee Chair